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SECTION—I : MATHEMATICS

1. The perimeter of the quadrilateral ABCD formed by A(-3, 1), B(0, 5), C(4. 8). D{l, %) taken in
that order is

A(-3,1), B(0, 5), C(4, 8), D(1, 4) e 353 fgres* 2éd Stdynmin ABCD dog, StpsTod

1) 1642 (2) 25 3) 20 @) 10

Which of the following combinations of sides and/or angles cannot form a night angled
triangle?

g.@aaqasua.azvﬂ&‘ peines’ 70 dor Bnined’ 50 von §'n Bgeind 36,639 Fudaw

(1) 17,8, 15 (2) 1,42,45° (3) 42°,48°,5 (4] None

In a trapezium ABCD AB | | CD, the diagonals AC and BD intersect at ‘P. If AB: CD = 2: 1
then area of ACPD: area of AAPEB =

ABCD 838a056" AB | | CD 38ain AC, BD ggren. P’ 3g wodo®d Fd3d. AB: D = 21 1 sand
ACPD . AAPB @thm dvear;e 248,

(1) 1:4 (2} 2:1 (3 1:2 4) 4:1
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4, (Q is a point on the line BD dividing the segment internally, AB, PQ and CD are drawn
perpendicular to BD. If AB=a, PQ= b and CD = ¢, then

BD & ey 8y poddn 2o Q '.:Ea' modddon dgflod Dothdh AB, PO L8aln CDe BD % eonom A4 540
By AB = a, PQ = b 8din CD = ceand

1
1 o+

-
0y |
i

(2)

(3) (4)

]

= Q=
RB|= o=

0 | =

S.

An equilateral triangle ABC is such that the side BC is parallel to X-axis. Then the slopes of
its sides AB, BC, CA respectively are

AABC 3DerduBeasnd’ ghein BC X-eginsH Shiressiom 8. wand AB, BC, CA haivs Suf,
Treen MR

(1) +3,0,-43 @ J3,V3,43 (3) 1,0,-1 4 3,043

The diagonals of a quadrilateral ABCD intersect at a point O such that AO. DO = 50. CC
Then the quadrilateral is definitely a

mcm;m%ummbsgm AO. DO=BO. Cﬂ.ucﬂuﬁﬂﬁumﬂﬁgﬁn&umi'od & Sdodpedn 30357
s

(1} rhombus (2) parallelogram (3) trapezium (4)

rectangle
wouh Bdross Sidnmo 35aabo

0 Sddgo

A man is standing between two lamp posts on a hnri:—:pntal line dividing the distance between
them in the ratio 1 : 2. The height of man is 2 m. It is noticed that shadow of the man with

respect to first lamp post just touches the foot of second lamp post. If the distance between
the posts is 30 m, find the height of the first post.

2 Doty D8y Al &8 DA Bod 83 Fondne Indend S BpD 1:2 23@é* dgtlots dsom Jeadsan
o,0 & HANE S B3 Foodn S  SrAEHD o8 Bod3 83 Jouin Andend BHEed. & lod Asjosive
Bo6 660 30 2ot son M 83 Jowio J&y

(1) 6m (2) Sm (3) 4m (4] 3m

A tangent is drawn from an external point P to a circle of 8 cm radius. If the length of the
tangent is 15 cm then the distance between the centre of the circle and pont &1

8 Bo.to. Tyrgan o 3yer D8 P o ovdry Dot o8 3yt Snen Aabodad. 3yq S e 15 2ol sand e
G loiBin Hod P e drdan

(1) 23 cm (2) 20em (3) 17em {4)° Cannot be determined
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9. ABis a chord of circle subtending an angle 90° at the center O of the circle. If the radius of
the circle 1s 6 cm, the area of the minor segment is

28 3F206'Y AB mg Soiiin 3¢ 3010 50 90°. & 3yg TA~gin 6 Ho.2. o sey 5§ pod JFugin

I.ﬂ- ¥ r
(1) —_jzcm' (2) 144 cm’ (3) 203 om? (4)

7 cm®
< 2

10. Two concentric circles of radii 12 em and 5 cm are drawn. A chord of bigger circle becomes
a tangent of the smaller circle, Then the length of this chord is

12 0.2, H8atn 5 0.2, Tgdegineot SDAS Boch DE Soid Jydven S0P, D36 by Sygcin Ang .8 &g BodS
JEAE 358 sond e ey 2dP

(1) 26 cm (2) 17em (3) 13 ecm (4] 7cm

11. A square of side 7 cm encloses a circle touching all its four sides. Then the area enclosed
between the square and the circle is

7 2o.2. ghein fo 18 586 H0 Gws) Trenlh heroi soddlum BrHir el Sgdn g, mond Hﬂﬂﬁotﬁmda

S s
(1) 21cm’ (2) 15ecm? f3F (7-m)em’ (4 10-5cm?

12. The diameter of a sphere is equal to the height of the cone of equal volume. If rand R are the
radii of cone and sphere respectively, then r= | _ b
L8 B SBain Joarde oM S8Hrmdven Hirshn. P e oo Jogd) JEND Sardaw, r, R e JOI™ Jopd
Bbatin Feve TgRngiveand, r' = T
(1) 2R A2f %i (3) 4R’ 4 R g e

o v

13. A solid sphere of diameter 18 cm is melted and is recast into small identical cones of height
6 cm and radius of 6 cm. The number of cones formed is

lﬁhmﬂmﬁwnsmmmmﬁm.hugmmam,m.a-aa-g:nm:mmmmg:m)a
Toxpo Sosy
(1) 24 (2) 32 (3) 12 (4) 18

F log of dimensions 6 cm, 8. cm, 10 cm, a right circular cone and cylinder of
rn-:: :ﬂ wmmddi; ¥ tEr 6 em and equal height 7 cm are formed. The quantity of wood lost in

1‘-

this process is
ﬁnu.a:.,am,m::a.!n.,rumnuura::;mmﬂ6h.h.,rimmm?m_m,,mﬁudhm
ﬂ}ﬂm-* wr&%mm 1"
HEre soand LB AT 3ges’ o
(1) 226 cc (2) 250¢c @ 175¢cc (4] 300 ce (a
=
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15.

16.

17.

18.

19.

sin 30°sec 60° + cos 30°cosec60® _
sec45°cot45°cosec45”

(1) 2 (2) 1

(3 3 (4 J6
BC is a tower, B is its base. A is a point on a horizontal line passing through B, the angle of

elevation of C from A is 60°. From another point D on AB, the angle of elevation is found to be
30°, then BD =

B ardsnm fo Jonsn BC. B fhoa 4db e.8380 8y 26 A 0 Do o Cdlns df o §*maw 60°. AB By
Mmuamnmcangb&gﬁs'amsu' wavs BD =

1 1
(1) 2AB (2) EﬁuE! (3) 3AB (4) EAE
i A, B and c are angles in a triangle then
A+B c B+C A C+A B
tan tan—+1t ——— kst =
( 2 } n2+ a.n[ 5 ]lan2+tan[ ]t&m2
ABC e nE [Bebaind'd Fore sand tmtﬂzﬂ}tang+tm(ﬂgcjtand+tan(c+ﬂjtan'~:i=
(1) © (2) 1 3) 2 (4] 3
The value of (1+cosx)(1+cot® x){l-cos x)=
(1) -1 (2) 1 (3) cosx [4) sinx
J‘l+sinl£l +J1-sinﬂ -
1-sin® V1+sin®
(1} 2sech

(2) secB+tanp
Eﬁi cosf-cotd {4] 2tan®

The length, breadth and height of a room are

10 m, d 10 ively.
_a.'nglt of elevation of a top corner of ro 1042 m an m respectively. The
is

om from any point on a diagonal of the base of the room

5 18 BnED,
e$ R0 a3, Doy DBk 38 IR 10 ., 103 ., 10 2., wand & 186% €20 206 D 58w Anden wod
DR KB D e Aok Sy ¢ Ty

Y

1) 45 .
(1) 12) s0 (3 30* (4] None
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21. If cos* 0-sin' (-

cos' 0 -sin' 0 - ; e2ans () -

(1) 30° () 60" (3) as° (4) None
22, A solution of 2cos” x - 3cosy + 1=0 is

2c08’ x-3cosx+1=0 0K, s

(1) 45° (2) 60° (3) 30° (4) None

23. If a dice is thrown twice, then the number of sample events is
LS I Bod iy E‘Qbﬂn- bd_)ﬁ: :Sﬁaﬁé-ﬁﬁm:ioq:a

Lal

146 (2) 12 (3) 24 (4) 36

24, A circular area is marked on a rectan in gam
: _ gular patch as a target for a certain e. A plaver :
declur:_d_ winner if a ball thrown lands in the circular area. Then what is the l:viﬁnm;
probability for a participant given that the dimensions of rectangle are 2 m and 3 m while
the radius of circle is 0:5 m?

SEa0H LIS, 86" oo Seden 2 I, HBdin 3 HirgDbahn 5§ g 0.5 . SgSBsRey
oL3006" 3)#in Adbadss, 8 sbmd 0odd & HE756Y oo’ IahADAS ©82D Jdam EEdG. sard «
oL Sogri s

(8)

11 11 A1
2 @ 33 B 179 L

@ |

(1)

25, From a well-shuffled pack of cards, the probability of drawing a red-coloured ace is
,mmﬁumgw[ﬁmummmmeﬁi

b | e

1 1
1“""‘-—_
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® Enﬂ'. “ Studcn H » i

E*SB0 D E). ol ol
o DB 42 Deo Gofh HBatn 22 g Borb DAy SO, &S 968 Ao dofd Dy E3Ge )

yor .8 issyi Babrr o8 Sevip Bofb> 0. D3 g ) & DG 6'98 draose HBa &l Doy ol
8ysorm B & D%, dewo B0 oibbd Jogdd

21

1
| M3 (2) 3 (4)

L

| B2

(3]

oo en

27. Which of the following does not represent probability of an event?

5 Se@osaignadsTad’ D8 Sow3BH Ardosh.

s

(1) O 2) 1 (3) 10001 (4) 0-99999

28. In a frequency table of interval size h, with usual notations, the relation between the actual

mean ¥, assumed mean aand the mean of deviations, d is

rproe Ard8est 3858 serodsn S61B wostin hHBaky w08 LEHIN X, Selrods Mitw A Hobabn 3o7H8
D3varen d o S Hogodin

(2) E=d-+ah

(1) X=hd+a
+a (4] None

(3 x=d

29.

s

The set definedby A={ne N fl+ ni} < 50} , where N is the set of narural numbers, then the
mean value of elements of A i1s

ira Sonye H008 N o6 A e BBY A =|ne N /(1 +n?)<50) mﬂﬁaﬂudﬁﬂéﬂ.::’m_ﬁ:ﬁ &' Jresty
0¥ DB \1{7\. Vial g

(4) 35

An organization wants to find out the most popular TV serial and
measure of central tendency is preferred for the data?

1) 1 2) & (3) 4

conducts a survey. Which 3
e 90 T.V.08" 35y hBad) 8 err @rdongs 20808 BBaHEH Jodsedtt T dstudos Togs Dens

(1) Mean & Mode (3) Median (4] None
sl Sy in erodddn Do 28 =
S
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3l.

rodsin < uos'dz-ﬁid.}a < -'l:-dar’-éc
(3] Mean = Median < Mode (4] Mode = Median < Mean
©aS Db o = DéKdo < ey TICEID = B, o< ©05 s S0
32. Following is data from 5 child-care center find the mode of data
08 355 dlog) nogEsy
Age Group -2 | 24 |46 [6-8 | 810
Number of children | 5 [, |7 3 2 2
(1) 2 2 7 BT 267 4) 3-5
3. If log, 256 « log,81-1log, x =0, then x=
log, 256 + log, 8l-log, x=0,mansx =
1 1 (2) 0 (3) 64 (4) 512
3. The HCF and LCM of 48, 72 and 60 are g
48, 72, 60 & K23 DBein £.3%.10 e I
(1) 24, 144 (2) 12, 720 (3) 720, 12 (4) 12, 144
3. A composite number can be written as a product of prime numbers in
B8 Soctng Sogp (H573 stErrosTe opoit Ji) Jiuenn crabiody,
(1) a unique way (2) at least two ways
i egagon i T
(3} any number of ways (4 None T
08 seeh g
J:.h:lqrmﬂ-EH‘
3% 1.1 .
. e =[ﬂ2]' =100, then j,mp]lcs E Yy
Sl
2'=(0.2) =100 won3 y
1
“.l 1 J.;T: .\.- m] E 13, E [qi i‘ﬂxm 2
\l\"‘--..__ _

For the data 6,2, o 11,3, 4,9
D dgofin Dol &

(1} Median < Mean < Mode

;Mo < wog mgsamg < UYLy |

: M 7 13,

1, which of the following is true?

[2) Mode < Mean < Median

&.'L'fm- mame e -
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37. If -75=9a+ b where Q< b <9, a, bare unique integers, then b =
=75 =9a+h, 0< b<9, a, b mhzgmﬂﬁwmummh =

(1) 3 (2) 4 (3] S (4) 6

38. (A-B)u(B-A)= "

_,m/AuE 2 aAnB (3) ¢

39. If Ais the set formed by the letters of the word POSSESSIVENESS’ then n(A) =

4 (AuB)-AnB

‘POSSESSIVENESS' e ol 58:06'D egsined® DE,A5 5008 A wond n (A) =

(1 7 (2) 6 (3) 8 4 5
40. n(A)=8,n(B)=9, n(An B)=6 where A and B are two sets, then nlAuB) =
n(A)=8,n(B)=9, n(An B) =6 wons n(A U B) =
(1 17 (2) 12 (3) 11 4) 7
41. How many subsets the set P = {a, e, 1, o0, u} will have?
N E
P={a, e i, 0, u} o300 Avg Ingn &3 3Dibe Sowy S e
(1) 4 (2) 16 (3) 8 832
42. 1f -1, -2 are two zeros of a polynomial 2x* +ax’ + bx -2, then (a, b) =
2x* +ax” + bx - 2 ©IUS6 @Y Bod wragen -1, -2 ew wand (a, b) =
(1) (1,2 (2) (5 1) (3 (3,2 4) (2,-1)
43

. Thcruutanf?_:g:_—£=3 are
]

2
2x -2 =
X 3 dwE, o

m -3 @ 2.1 a2

2 (4) None
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V.9 3 A

2. o
At -9-31 = »



44,

(1 1,2 (2) V6, -1 3 21 4 2.3
45. How many sides will be there in a polygon having 54 diagonals? g
54 sgawen Ko el ndvehests ghesoe Sogy
(1) 27 (2) 108 (3) 54 (4) 12
46. A ball is thrown from the top of a building of height 25 m with an initial velocity of 15 m/sec.
If the height of the ball h from ground at any point of time ¢ is given by h =25+101-31°. The
time taken by the ball to reach the ground is
25 Doksth) Ik e 93350 308 ©0BD 15 D /255 3rins* Boss aﬁm.mamsbpma:ﬂma@ums
PoBogEn h =25 4+10¢ - 312 ™ adndsa, mﬁumﬂhﬁ;ﬂ'ﬁﬁ:ﬁ}ﬁh&ﬂﬂ:uﬁﬁn.
(1) 15 sec (2} 10 sec (3) 5 sec (4} 5/3 sec
. If the solutions of ax+by =2 and bx+y =35 are 4, 6 then q =
OM + QH = L
W+ by =2 2Batw bx +y =5 ogIw 4, 6 vovsa = by + 1= 5
-3 =7
-1 7 3] — (4
m = (2 3 @3 8
. Which of the following is a quadratic equation?
% foa vdls® 3¢ 3teeain 06,
L. = [=x){3 - X]
M -ax® - xs1=(x-2) @) K= Qemi=)
B (x=2)(c41) = (x = 1)ix +3) W) Nane
S~

J3x 4 2y =22 ﬁx~ﬁy=3ﬁ imp!iesx=.y=

V3x+J2y =243, V2x- By =33 BDSGeme Migisen x =, y =

SPACE FOR ROUGH WORK / 3 e



49,  flx)=5x' -9x' -3xF +11x- 18 is divided by (x - 2) then the remainder 18

flx)=5x* 98" -3x7 +1lx-18 - 2) & eefioa 3y daae

(1} ¢ 2 -7 (3 7 (4) 1

50. If the difference of reciprocals of ages of a boy three years ago and five years from now is

then the present age of the boy in vears is

LS ﬂ‘uﬁd‘n:lﬁbﬁcﬂﬂ.‘ﬁ RoBdyore Bao :.m::bdm SHoddme adoTo Sabioe cﬂmiiuﬂﬁ':.rcl Doy Fafals

8
Emﬂ@aj&wﬂwmh
(1) 8 2) 6 3 4 4 9

51. Sum of the squares of two consecutive even positive integers is 340. The numbers are

Bod S0 8L Doy ST JFA 340 sand e dogyen

(1) 10,12 (2 12, 16 (3) 14,16 ’{jy 12, 14

52. The pair of equations 2y +3y =5 and 6x+ky =12 has no solution ifk=

2x+3y=5 m5x+@=12mﬂﬁmaﬂﬂ:ﬂuk-

(3 @ 6 <y Of9 W 12 ‘
T b Woowes J'x =
53. The roots of a quadratic equation are irrational. Then 0 . .
1“4 “ago
ﬂﬁﬂﬁmww:ﬁnﬁmmﬂ 1, 9. L
‘-ll di’n'iminﬂ.nl - ﬂ ‘21 diﬂﬂﬁ]ﬂiﬂmt < 0 . i g -
e 2344 >0 D35 <0 TR ; "

4
Lol
%
~r _ (3) discriminant is a perfect square (4] discriminant is not a perfect square
S sugdegige sagd ergagors
J S
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54. In the series 112, 109, 106, 103, ...., which term is the first negative term?
112, 109, 106, 103 ...... g&a‘bammaﬂmnﬁgmﬂmma

(1) 40th (2) 38th (3] 36th (4) 32nd

§5. In an AP the 5th term is 24 and 12th term is 94, then the sum of first 20 terms is
mof (386" 53 3850 24 HBakn 123 3430 94 wand v wof (86 20 20 Iove Andin
(1) 174 (2) 200 (3) 1350 (4) 1580

§6. If the first term of a GP is 486 and the common ratio is (1/3), the tenth term is

fors 2 2ociel 3640 486 B8cio ardy A8 1/3 sawd 10 356850 "

ALY 3

-

(1) 2/243 (2) 1/243 (3) 2/83 (4 1/729 yse. )

Ve £

57. If the points A(S, 3), B(8, 5), Clx, y) and D(7, 2] are consecutive vertices of a parallelogram
then (x, y) =

A(5, 3), B(8, 5}, Clx, y) DBatn D(7, 2) muwmﬁam&gmmﬂ (x, y) =

(1) (4,0 2) (4.4 (3) (10, 4) (4] (4.3) EE T
58. The points Ala, 2), B(3, 1), Ci-1, 3) do not form a triangle if a = ._ Jiﬂui f‘:‘*"
a dng, 23 Afa, 2), B(3, 1), C(-1, 3) e Bsbe dmed D163 T o_ade e
(1) 2 (2) 3 3 -2 (4 1 ER
T 4

$9. The midpoint of line segment joining (x, -y} and (-7, 5) is (4, 6). Then x=, y= , _ =4

(x, - y) DBaw (-7, 5) DoPod IevH 8 podin sy DodP (4, 6) wandx =, y = - _1i£?
(1) (-3/2,11/2) 2r (15, -7) (3] (11,1) @4 (s, 5 -
thohth Y5
60. The area of the triangle formed by (-1, 2}, (2, -1) and (0, 0] is v.71 "
(-1,2), (2, -1) 26atv (0, 0) 08" s Behom Jryeyt oy e
(1 o (2) 3 3 1 (4) 372 e
e ——
SPACE FOR ROUGH WORK / 2y Burovodnds p8isn
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SECTION—II : PHYSICS

61. The refractive index of glass with respect to air is 2, The critical angle at their interface is
™D Stom mee 38653 10ngo 2. eand 308) §'mo

(1) 30° (2) 45° (3) 60° (4) 90"
62. Which among the following materials has higher refractive index?
Bos &35 786" 20,3 58635 g0 SDAS.
‘[/'-'I' Diamond (2) Kerosene (3) Canada balsam (4) Air
aol EE'A5 B3 ereyo b
63. On which of the following factors does the focal length of lens depend?
o8 " shoE FErgodto Eﬂ‘_:-_ e SHddaod
(1) Size of the object (2) Power of the light source
SRy 3Bareo $08 383 50
(3] Wavelength of the light (4) Surrounding medium
?n&ﬂﬁaﬁﬁ 50 S836 airdgo
64. A convex lens forms a virtual image when the object is placed between focus and optic
centre. The size of the image as compared to the object is
5@@5?%%& SoBain %E!n@u mqsamm Dogrsrdo Sbso D:llﬁﬁ Lﬁ-ﬂﬂﬂﬂ'ﬂl bcbﬁjm_'cﬁ [ TR
26,c (8Don SBrein 7y I63rnod’ 2403
(1) same size (2) smaller (3) larger (4) None of these
wd 383rm0 25,8 258 RADTH
65. A lens having two spherical surfaces, curved inwards, is called
Bods s deren 6'30 DHD Jofl &3, Sbiko
(1} concavo-convex (2) plano-convex
DUrss-hogrs Addo-Dogrsd
[3) biconvex (4) biconcave
B Dogrsd Bsoersg
66. When an object is placed at distance of 5em from a human eye, the im;
distance of

ge is formed o
LE 3P SrsDs fold o8 5 M.drﬁoﬁ'ham,%mlﬁﬂﬂoum

(1) 2-25cm (2] 2:5em
2.25 Do, 2.5 Bo.ty,

B) lem 4 Cannet form o clear vision
1 Bo.lo. RIS B0Bowo besyies,

SPACE FOR ROUGH WORK /Dy 8, —



67. Pick the correct anawer [rom the !ullnwhu: twir il ermenia
e BB rfeine ol 30D dargeo Jod nied
() Myopia s also called near siphtednens,
[;r;a‘sﬂ.ﬁﬂ'ﬁu RERI ) N0 32 Hentis Ayshone drdred
{b)  Hypermetropio is alao ealled e siphtedness,

e;!‘ﬁa_h:!.,ﬂ".m Heaeth drod Siphed Sylone dodiied

(1) Only (a) is true (2] Only (b) is true
() v Dmdn (1) Srudds Dt

(3) Both (a) and (b) are troe (4) Hoth (o) and (b) are fulse
(a)8a{b) Bodr Demel (1) () Bodr 83,4

68. If i, and i, are the angle of incidence and nngle of emergence respectively, then at the angls
of minimum deviation

iy DB {; SV 3L R0 DB Birdd oo vand 1910563 I'6o 34
(1) i =i, (2) i, =20, (3) 24, =i, 4) i =i

69. The sun does not appear red during noon hours, Because

Bogrpar, 306 Aty o JE LI, JodsSn

(1) all colours reach our eye without much scattering
%THMWMMWMBMTm

(2) all colours get scattered on reaching the eye
o), b Borsen 308300 Jof foidd Jboran

(3) red colour only gets scattered
mmmmmm:a{amaum

(4] red colour only does nol scatter
Jsbors Tob e 308300 Doddy

0. The sum of two resistors is 6 (1 and their equivalent resistance when connected m parallel

is 1.5 (1. The product of the two resistances is
LE 6 0 mmm‘#umma-dawwwmmwm . 5 (7. eand

® Boch AG'Gre oy
iy an 2) 920 (3) 750 4 4 512

—
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T1.

T2,

73.

T4,

75.

{li.l
0

2 drenodb

(1) 310 (2) 4V (3) 3 A (4) 2 W

The relation between the potential difference and current is established by the scentist

O abdh B> )8t Deny & (DR Saghy fie Somori T Do w5

(1) Ampere (2) Oernted (3) Kirchhoff (4} Ohm

£505aH8 esanf 2o b

Pick the correct answer fraom the following two statements :
LLLTA m::-s&anumod :.‘:ﬂd!_::.ﬁ Adrgrdo Jobd $a5'0d
{a)

Kirchhofl's junction law in based on conservation of charpe.
Bor\0 molid Dabibo edare D80 w3000

(b) Kirchholl's loop law is based on conservation of energy.

RomyD erD Dabiivo 4 Diyitco 85758300
(1) Only (a) is true
(a) @ Deda

(2) Only (b) i true
(b) Sl Desn

(3) Both (a) and (b) are true

(4) Both (a) and (b) are false
(a) & (b) Bodyr derd

(a) & (b) Bodr 3,8

The resistance of a wire of length 1 m and cross-sectional area | mm? is | 0 The
resistance in

1 85, dedidp S08ai> 150.5" 306836 Dareyo GDOAS 9 B D80 | LS. & b1 283,08 5

(1) 10Q-m (2) 10°Q-m (31107 -m 4 010.m

A charge of 6C in flowing through @ point in a circuit for 2 minutes
circull ia ‘

The current in the
6 C da;o84o e seaod’ w8 Do 808 2088 DobD0 2 2stred ety gyon,

& doabod®
(1) 3A 2) BA 3 008A @ 19 A B30 dey §
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76.

Which of the following pair of devices measure the same physical quantity?

BoB 36" 08 50 ED B 03D ASArRSES motb AveSaren

(1] Ammeter, voltmeter (2) Ammeter, galvanometer
uh%um. 5‘15 atads By, MrocT kb

(3] Galvanometer, voltmeter (4] Ammeter, battery
g B, 546 ot .

Generally, right-hand rule is used when the velocity and magnetic field are

Agronom, Bl 38 Rabard, I ﬂ}ﬂcﬁnocﬁﬁ'bndﬂdﬁn eSoas sl D a4d’ ShhO T LTS,

(1) independent of each other (2) at 45° to each other
a5 285 G HE Sy 3880 45° §'no BT
(3) parallel to each other (4) perpendicular to each other
LETPASES SEroBtom &35, 38300 vopor™ 43,3,
Lenz law gives
Sof Nabibo 827 8DahEN8
(1) magnitude of induced EMF (2) direction of the induced current
(588 D3 STy o8 weo AnE) IS Y (588 Do S B
(3) strength of the magnetic field (4) magnetic force acting on moving charge
A force exerted on a 3 m long conductor having a current of 2 A in 04 T magnetc inducton

with an angle of 30° is
3% mmhsmmw:ﬁﬁéz eodabl. 823 0.4 O (D60 fo ecbdyod §3 836" 307 dan
dodIPHch 3Iain podv

i s (2) 12N (3) 72N (4) 24N

Which among the following does not involve the principle of electromagnetic induction?
ic

08 36" DeioyBcioimpd (BOAD BFEIER
(1) Electric motor

m,sm
(3) Electric geyser

:d;,mu

(2) Electric generator
Ddnd 3t

(4) Induction stove

woags 23S
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81. A temperature of ~273 "C in Kelvin scale is

BDN drdod® -273°C wdens
(1) -273 K (2) 273 K (3) 0K (4) 273K

82. Which among the following statements on temperature is false?

VS BowoRod s BoB els* Darin 83y, 7

(11 1t determines the direction of heat flow
=8 ég.ma':? B4 Du;ﬂr‘.'goﬂ

(2) It is a measure of thermal equilibrium

wﬂagmmgmama@u&

3] It is a measure of hotness or coldness
28 Vo do Seido Axand BDabIdhud

.,wf Heat flows from a body at low lemperature to a body at high temperature
SHo ORE we) RS o ST ol L &I Ho JNHO 332708

83. Condensation is a change of phase (rom

Arofgdnod’ niib BB Ard,

(1) liguid to solid (2] liquid to gas
(B30 Aol odo (B0 Dod Traiug

(3) solid to liquid (4} gas to liquid
Do Aol (B30 Tl od Ede

84. If T, and T, are the temperatures of the hotter and colder water samples respectively and Fis
the final temperature of their mixture, then

T, ®Baio T, Sehdm 34 26akn Jed e adtiiden LBty T3 08 agquid sand

1) T>7,>T, 2 T>7,=1

3 T>T>71, W T,=7s7

SPACE FOR ROUGH WORK /3838 furarsosads g
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. A clock showsg : i
85 3 hr 5 min, When seen through a plane mirror, the time appears to be

eSAsdirso 3 fon s iy Ardiyh8. ol wé sdse G660 oG Srbddy,d b Blon 8arns

(1) g :: 5555?11 (2) 3 hr 5 min (3) 9 hr 25 min (4) 6 hr 10 min
" J 3 fdon 5 A 9 Aen 35 M 6 ronl0 Bn

86. The magnification o i i : ; 3 . o
image isE fan object of height 1 m using a spherical mirror is 1-5. The size of the

1.5 3830 SOAY w8 Sig8e SGETRTEcoTrgr 1 . 26 SOAS 5P IrdI3H Vg B8Don eimns.
(1) 067 m (2) 1m {3) 1'5m (4) 25m
87. The type of mirrors used by Archimedes in burning ships is of

Ldod Shedlobin eBah a5 6mre

(1) convex (2) concave (3 plane (4) None of these

Dogsts Dy e 0P
88. Which among the following is not a physical quantity? ) = Y=

o8 d&* FBsore N8 08 7

(1] Object distance (2} Image distance = 1S
Srig Grdan Padon drddn

(3] Radius of curvature {4) Centre of curvature
Siger rgAngn Sige Sosdn

89, When we sit at a camp fire, objects beyond the fire are seen swaying. The prindple involved
in it is
D30 SDBs0ke S8 LE aw,a@uw%mmm%wuw.mwm

ll] f ction [2’ reflection
reira

sl Somsstn
(3) total internal reflection (4) ::;.terin &
oo
mﬂ&wsgm |
f the glass slab and ‘b’ is the vertical shift of an object through it, then
0. Hyia thickness O :
rei':af::i::cind::x of the glass slab is b .
o DI LSS S0P D0 b o P
el Sosdn d
rrer 83 a a-b T R
. @ z-b @ e
(1) ~
b
— """;Tcr::-;ﬂn COUGH WORK / 280 faranoseds (i
S
a
i o
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SECTION—III : CHEMISTRY

91. According to Linus Pauling, the electronegativity values are based on

D30 Dol iF5to QoS & Defogral, S8 Dewden wgrdon 88 osndid,

(1) ionization energy (2) electron affinity

oahdsen 13 JosS el
(3] Both (1) and (2) (4) bond energy

(1) Baitn (2) wog 4

The orbital with highest penetration power is

o eByurdl TanOaah g 0 Q30 doknod 7

(1) s 2] p (3 d 4 r

93. Mendeleeff's Periodic table is based on

Dosb essgasdy 5o Saird abndoes,

(1) atomic weight (2) atomic size
36 83,008 ST 383re0
(3) atomic number (4) atomic volume

:nd.'h-n:.noa‘ Hdm-mmm
94. Total number of elements in Newland's periodic table isg
Argerof e3gs 3854" 4ol Aurose Howy
(1) 64 (2) 48 A3l 56 (4] 65

95. Element ‘A’ forms tnpositive ion and elemeny ‘g

forms dine
formula of the compound formed with A ang B wi)

gatve lon. The chemien]
| be

POLYCET-2019/2-C 18



96. ‘Sigma bond’is formed by
ATy P00 DG S0

(1) end-end overlap (2) head-on overlap

(3] Both (1) and (2) (4) lateral overlap

(1) B8ty (2) 6 ¢ wByerd whdo

97. The shape of molecule with 4 bond pairs and zero lone pair is

3 2of JoEs moben Hbaly o) £okB JoES sobiey SHAS v divg s 8

(1} tetrahedron (2) linear (3) pyramidal (4) trigonal planar
Sy Dabo 8Dato L HU S 95 dats 30800

98. The bond angle in H,0 molecule is
H,O ec$é' vog5'ao

(1) 180" (2) 120° (3] 107 48 AT 1040 31

99. Match the following :

=8 830k,
fa] Haematite !rmgﬁ ft) Hgs
fb) Cinnabar 336 . () Fe,0,
fe) Hornsilver 28§ %esb [} Fe,0,

fiv) AgCl

(d) Magnetite 3rHoS

( j, d=ii (21 a-wm, b-i, c-av, d-u
1) a-iii, b-iv, c-i, 4~

4] a=il, bl o-v, -
5oy it I
(3) a-ii, b-iv, c-i, d

19 {PTO
h"_"ﬁn—. - —



100. Which of the following metals is least reactive?

(1) Mg (2) Au (3) K (4) Fe

101. Heating of carbonate ore in absence of air is called
™D 800ar $5 3t 38 Samed 2 Sewht 7

(1) calcination (2} roasting (3) smelting f4) refining
o oo gigso @Sriodo Disdrio

102. Electronic configuration of C in its exited state is

*WCM"“F.:EW;}“
(1) 1s°2s72pl2pi2p? (2) 1s*2s*2piaplapl
(3) 1s°2s’2pl2p!i2p" —t4] 1s°2s'2p!2p} 2p!

103. The first synthesized organic compound in laboratory is
mrmraﬁ‘:ngmmmmmwahm

(1) methane (2) wurea (3) acetic acid (4} ammonia
A5 alarBatr
L ERT ey Dy
cl

| |
104. The IUPAC name of CH;—CH—CH—CH,

¢t c
CH;— CH— CH— CH, @ IUPAC o
/mx 2-chloro but-3-chloride 2) h"t‘zra‘dichtnrid._-
2-55'ary5-3-508 enyS-2.3.25%5
{3) 2, 3-dichlorobutane (4) 3-chloro but-2-chioride
2.3-25'6" aryds

ﬂau!:vﬁ.l,u-lﬁ .2.5:95

SPACE FOR ROUGH WORK /2ay0,8
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105. rach : :
For extraction of highly reactive metal compounds from their ores, some impurities are
added during the electrolysis process. The role of impurity is

RS 307 308 o 6" iy dare ordd Dol Y, Sorlroniddyd e85 68 S Plans’ T, HTeD
SewHEr . JodoSot e

(1) to give color to the ore (2) to increase the meiting point of ore
P8 Borbd adraw P s | BDEIS D, bodigran

(3) to increase weight of ore (4) to decrease the melting point of ore
T &P s BiH Doweraw oy g BDEIS 2y SAow.

106. The organic compound with R—COO—R' functional group is prepared from
R—COO0— R’ @ab Haariro SDAS €6, #yvito 36 orgom 26, 7
(1] RCOOH and R'OH (2) R'COOH and ROH
(3] RCHO and R'OH (4) R'CHO and ROH

107. The value of x in the following chemical reaction is
D3 aSgpdI dDab S6;&" x DenS Jod 7
C,H, + x0, — yCO, +zH,0
(1) 4 (2) 3 (31 6 (4] 5

108. Lead nitrate on reaction with potassium iodide gives yellow precipitate. The yellow color is

due to
gmwwwﬁﬂﬂummm%dﬂhﬂﬂﬂﬂm
Pb(NO,), + 2KI——PbL, + KNO,

(1) Pb{NO,), (2) K (3) Pbl, (4] KNO,

109. One mole of H, gas contains how many molecules?

wf3rd H, Taindd’ dod oIOTowy
(1) 6-023x10%
(3) 6:023x10™

(2] 2x6-023x10"
(4) 6-023«10%

SPACE FOR ROUGH WORK / S0 Suranodads @y
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tion of
y e due to forma
110. The tarnishing of silver spoon in presence of moisture is

Jo& oD Bré’ GoDB, b oD D6y 3D 2rol 57 dmo
4) AgCl
(1) Ago, (2) Ag.S (3) AgNO, (4)
" “ I ?
111. Which of the following is an example for neutralization reaction
208 5 BLRESH 36:8 aoirdn

(1] Base+Salt— Acid + Water
500 + im0 —— &0 + M

(2)  Acid + Salt —— Base + Water

mdo + 060 — 5o + A

(3] Acid + Base— 4 Salt + Water
udo + o — - vino + b

{(4) Base+ Water—— Acid + Salt
6o+ B —— &0+ wdmo

112. The colour of methyl orange indicator in HCJ

is
HC1 &' 236 w6oé 368,00 dord
(1) pink (2) colourless (3) yellow (4) blue
b Solb dosds S0P deo
113. The chemical name of plaster of Paris is
236 65 285 Qg sdabs Do
(1) caleium sulphate monchydrate @ caleium Sulph
‘ phate

Qa0 385 2T @S FRWo 54,

(3] calcium sulphate dihydrate (4 cal
i Aleium Sulphate llr:mihydrﬂle
sQabo 3865 & 1mdd

SPACE FOR ROUGH WORK ro
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114. Slectuivsis of aquecus NaCl solution produces
=e o3c NaCl 202§ 2 =
== a2l o -.:‘.3;5 ..i:."n BT b.'.bd:u:.b

il R, atcathode (2] 0O, at anode

SV E < 13 5

SSE3gH, oy u'8350, Pawy
sl U, &l cathode () Cl, at cathode

E —
S50, ey s5'E38 Cl, aivd

L15. Which of the following is an example of acid?

o2 id wiril s

{1} Dy HCI (2) Aqueous HCI
22 HCI se (orde HCI

(3] NaOH (4) NH,OH

116. The Quantum mecHanical model of atom was proposed by

m-mrsomm&:rgmmwm
[1) Rutherford (2) Bohr (3) Schrodinger (4) Max Planck
L 6’6 'Gons ard) 2nok

117. The correct order of energies for the electromagnetic spectrum is

s

lui] me;mmrs}MGm‘TE:x'mﬁ
eBned'irs Morw > Sooda Morw > 84dr dtome > X-2oren

(2) Radio waves > UV rays = X-rays > IR rays
EA 8 Slomen > 2bdod'rd Wore > X-Uorw > 3000 Seren

(3) X-rays > UV rays> IR rays > Radio waves
X-Ucre > 08208 rs Mara > 3ovda Marw > 88dr 8dome

IR rays > X-rays > Radio waves > UV rays

&
K sorcon Moared > X - Moo > BAdr #domraw > ebded'sra orw
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118. Which of the following set of quantum numbers is not correc
Bos adcmds S5obio Soaye Idrdted’ Da 508

g - = -
(1) n=2_f=|?mr=-1+m1:+£ (2) n=21=0m=+1, m,

2

B | e

1
(3] n=?,l=!.m.=-l.m,='% (4 n=2,1=0,m =0m, =-7

119. The possible [ values for a given n value are
adewdA n S 8RS [Denen

(1) Oto(n-1 (2) Oton (3) lton 4 1lto(n-1)

120. The rule which describes the electron distribution in degenerate orbitals of an atom is
SELrrPe'D 3098 B ere fis; JoisS eBBED BOD Hirmeo

(1) Aufbau principle. (2) Pauli exclusion principle
=58 dabdo 2D 385 Dabibo
(3) Hund's rule (4] Planck’s theory "

£ -.--I
[

o0& Do 20E8ezot0 ¥, 'IL_].'L-&}E} +6C (@



